Fw=2,90 m? S0+800
)
Fn=0,07 m?
pp. 159,00 i
odlegtos¢ 9,5 7,5 4,3 3,0 0,00 3,0 4,2 6,6 8,0
Rzedne terenu 159,08 159,11 160,03 160,18 160,23 160,21 160,03 159,11 159,34
Rzedne niwelety 160,23
Fw=1,21 m? 20+825
7
Fn=1,17 m?
pp. 159,00
odlegtosc 8,7 6,4 4,2 3,0 0,00 3,0 4,3 6,6 8,0
Rzedne terenu 159,16 159,28 159,84 159,99 160,08 160,06 159,81 159,11 159,36
Rzedne niwelety 160,29
Fw=1,80 m? S0+830
)
Fn=0,77 m?
p.p. 159,00
odlegtosc 13,0 6,5 4,5 3,0 0,00 3,0 4,1 S,7 7,7
Rzedne terenu 159,39 159,55 160,00 160,16 160,18 160,18 159,91 159,63 159,63
Rzedne niwelety 160,35
Fw=3.37 m? S0+879
)
Fn=0,25 m?
p.p. 159,00
odlegtosc 6,7 4,0 3,0 0,00 3,0 4,3 S,7 11,00
Rzedne terenu 159,77 160,19 160,35 160,36 160,36 160,20 159,97 160,03
Rzedne niwelety 160,40

str. 1



Fw=3,96 m?
Fn=0,27 m?

p.p. 159,00
odlegtos¢
Rzedne terenu
Rzedne niwelety

Fw=7,15 m?
Fn=0,00 m?

p.p. 159,00
odlegtosc
Rzedne terenu
Rzedne niwelety

20+900

11,0 6,6 4,0 3,0 0,00 3,0 4,5 9,0
159,87 159,93 160,24 160,42 160,51 160,46 160,18 160,26
160,46
J0+911,5
Fw=5,78 m?
Fn=0,01 m? N
p.p. 159,00
odlegtos¢ 6,5 4,7 3,0 0,00 3,0 4,9 8,7
Rzedne terenu 160,24 160,31 160,56 160,60 160,59 160,50 160,52
Rzedne niwelety 160,49
50+925
10,6 6,5 4,3 3,0 0,00 3,0 4,6 8,2 10,9
160,29 160,27 160,57 160,75 160,84 160,76 160,53 160,51 160,70
160,52

str. 2



S0+930

Fw=12,45 m?

Fn=0,00 m?

p.p. 159,00

odlegtose 10,0 6,7 4,7 3,0 0,00 3,0 4,1 9,4

Rzedne terenu 160,59 160,51 160,89 161,13 161,21 161,12 160,96 160,37

Rzedne niwelety 160,49

20+939
Fw=13,35 m?’
Fn=0,00 m?
p.p. 159,00
odlegtose 12,0 9,7 6,0 4,0 3,0 0,00 3,0 1,5 11,0
Rzedne terenu 160,78 160,68 160,61 160,96 161,14 161,25 161,19 160,99 160,2¢
Rzedne niwelety 160,37 160,44 160,38
30+975

Fw=11,33 mn?
Fnh=0,00 m?
p.p. 159,00
odlegtosc 11,4 7,0 4,5 3,0 0,00 3,0 4,2 9,7
Rzedne terenu 161,21 160,48 160,61 160,76 160,83 160,78 160,66 161,00
Rzedne niwelety 160,23 160,30 160,27

str. 3



Fw=1,27 m?
Fn=0,12 m?

p.p. 158,00
odlegtos¢
Rzedne terenu
Rzedne niwelety

51+000

Fw=4,86 m?
Fn=0,12 m?
p.p. 159,00
odlegtose 11,3 7,0 4,3 3,0 0,00 3,0 4,0 7,5 13,5
Rzedne terenu 161,14 159,35 159,84 160,02 160,12 160,10 160,06 160,05 160,47
Rzedne niwelety 159,89 159,96 160,05
J1+026
I I
23,0 13,0 3,0 0,00 3,0 13,0 23,0
159,50 159,37 159,29 159,37 159,41 159,69 160,04
159,50 159,42 159,49 159,56 159,63 159,79 160,04
51+037
—_—
Fw=0.02 m?
Fn=5,26 m?
p.p. 157,00
odlegtose 8,3 5,0 4,0 3,0 0,00 3,0 4,4 5.8 8,3 11,0
Rzedne terenu 159,18 158,53 158,68 158,74 158,94 158,76 158,74 158,71 157,96 157,99
Rzedne niwelety 158,64 159,24 159,32 159,39 159,46 159,62

str. 4



Fw=0.00 m?
Fn=16,97 m?

p.p. 156,00

odlegtos¢e
Rzedne terenu
Rzedne niwelety

Fw=0.00 m?
Fn=23,8 m?

p.p. 155,00

51+030

7,5 5.8 3,4 3,0 0,00
158,32 158,24 158,38 158,38 158,44
159,22

o1+075

3,0
158,20

3,9

157,

94

8,0
156,16

odlegtos¢e 11,5
Rzedne terenu 156,24
Rzedne niwelety

Fw=0.00 m?
Fn=24,34 m?

7,0 4,5 3,0 0,00
156,62 157,31 157,90 157,98
159,02

51+084,5

3,0
157,95

4,6
157,70

p.p. 155,00

8,0
155,66

odlegtosé 11,0
Rzedne terenu 156,17
Rzedne niwelety

5.4 5.0 3,0 0,00
156,28 157,88 157,98 158,00
158,99

3,0
158,06

4,3
157,94

5.4
156,11

155,83

9,7
155,48

11,0
155,96

str. S




Fw=0.00 m?
Fn=15,19 m?

p.p. 156,00
odlegtosc
Rzedne terenu
Rzedne niwelety

Fw=0.00 m?
Fn=12,96 m?

p.p. 157,00
odlegtos¢
Rzedne terenu
Rzedne niwelety

Fw=0.00 m?
Fn=6,22 m?

p.p. 158,00
odlegtosc
Rzedne terenu
Rzedne niwelety

51+100

10,0 7,0 4,6 3,0 0,00 3,0 4,6 8,4 11,0
156,45 156,79 157,69 157,88 158,00 157,92 157,64 156,27 156,40
159,00
514125
10,0 6.4 4,7 3.0 0,00 3,0 4,7 7.7 9,5
157,49 157,60 158,13 158,28 158,33 158,27 158,05 157,32 157,07
159,16
514146
——
9,7 5,5 4,5 3,0 0,00 3,0 4,2 7,7 12,0
158,78 158,37 158,80 158,85 158,87 158,87 158,86 158,00 158,16
159,41

str. 6



S51+130

Fw=0.00 m?
Fn=5,55 m?
p.p. 158,00 I ]
odlegtosc 8,0 5,0 4,0 3,0 0,00 3,0 4,0 7,4 9,0
Rzedne terenu 158,75 158,54 158,89 158,93 158,99 158,99 158,97 158,18 158,21
Rzedne niwelety 159,46
S51+175
Fw=2,28 m?
Fn=1,87 m?
W |
pp. 159,00 I
odlegtosc 7,0 5,4 4,5 3,0 0,00 3,0 4,5 5,0 13,00
Rzedne terenu 159,70 159,17 159,59 159,69 159,61 159,66 159,54 159,20
Rzedne niwelety
o1+180
Fw=3,17 m?
Fn=1,38 m?
pp. 158,00
odlegtose 7,0 5.4 4,0 3,0 0,00 3,0 4,5 9,5
Rzedne terenu 159,82 159,25 159,71 159,72 159,76 159,79 159,62 159,33
Rzedne niwelety 159,82

str. 7



Fw=7,72 m?
Fn=0,20 m?

p.p. 159,00

odlegtose
Rzedne terenu
Rzedne niwelety

Fw=12,36 m?
Fn=0,00 m?

p.p. 159,00
odlegtos¢
Rzedne terenu
Rzedne niwelety

Fw=18,61 m?
Fn=0,00 m?

p.p. 158,00
odlegtose
Rzedne terenu
Rzedne niwelety

S1+203

12,3 8,7 6,6 3,0 0,00 3,0 4,0 6,0 10,4
160,41 160,32 160,24 160,21 160,30 160,34 160,38 159,80 160,06
159,99
S1+225
7,5 5,5 3,0 0,00 3,0 4,0 6,0 12,
160,41 160,20 160,70 160,73 160,73 160,72 160,15 159
160,04
S1+2350
?:ﬂﬁ
12,0 7,5 5,3 4,3 3,0 0,00 3,0 4,7 7,4 10,4
160,47 160,52 160,60 160,93 161,15 161,18 161,19 160,90 159,94 159,77
159,97

str. 8



Fw=12,45 m?
Fn=0,00 m?

p.p. 158,00
odlegtos¢
Rzedne terenu
Rzedne niwelety

Fw=5,17 m?
Fn=0,09 m?

p.p. 157,00

odlegtos¢
Rzedne terenu
Rzedne niwelety

Fw=2,46 m?
Fn=2,01 m?

p.p. 157,00
odlegtose
Rzedne terenu
Rzedne niwelety

o1+273

—
13,0 8,0 3,0 0,00 3,0 4,2 6,0 8,3
160,16 160,07 160,39 160,49 160,54 160,44 159,65 159,45
159,71 159,78 159,80
S1+300
r—[:‘_J
12,0 7,0 4,0 3,0 0,00 3,0 4,0 7,0 9,5
159,09 159,04 159,55 159,53 159,63 159,59 159,63 138,92 139,01
159,34 139,41 159,38
S1+325
/
11,5 7,0 36 3.0 0,00 3,0 3,9 7,5 10,5
157,89 157,81 158,71 158,85 158,91 158,85 158,71 157,98 138,03
158,86 158,93 158,86

str. 9



S1+330

I o
I
Fw=1,87 m?
Fnh=1,79 m?
p.p. 156,00
odlegtosc 11,0 7,3 4,3 3,0 0,00 3,0 4,4 7,0
Rzedne terenu 157,00 157,03 158,11 158,13 158,21 158,15 158,14 157,42
Rzedne niwelety 158,34
o1+371
/’_ﬁ
Fw=2,18 n? |
Fn=1,06 m?
p.p. 156,00
odlegtosé 15,3 12,0 9,3 6,0 3,0 0,00 3,0 4,5 7.4
Rzedne terenu 156,58 156,90 157,49 157,61 157,62 157,67 157,58 157,51 157,34
Rzedne niwelety 157,84
J1+375
= 1l
Fw=1,89 m’ . [
Fn=1,23 m?
p.p. 156,00
odlegtosc 15,0 10,0 8,0 4,0 0,00 3,0 5,0 7.6
Rzedne terenu 156,44 157,0 157,49 157,50 157,53 157,43 157,32 157,39
Rzedne niwelety

str. 10



Fw=2,89 m?
Fn=0,51 m?

p.p. 155,00
odlegtosc
Rzedne terenu
Rzedne niwelety

11,5

S51+400

10,0

8,5

156,18

156,98

157,03

5,5
157,08

2,5
157,06

0,00
156.63

2,7
157,00

3,7
157.14

6,7
156,97

9.7 10,7
156,94 156,82

str. 11



Fw=0,00 m?
Fn=80,91 m?

p.p. 154,00
odlegtos¢
Rzedne terenu
Rzedne niwelety

S1+420

Fw=4,02 m? i —
T\
Fn=415 m? | J L
p.p. 155,00
odlegtos¢ 3,0 D,0 3,0 6,7 4,3 3,0
Rzedne terenu 155,53 156,20 156,32 156,37 156.29 156.33 155,64 155,68 156,77 156,78 156,61 156,39 156,27
Rzedne niwelety
S1+444
21,0 25,0 27,0 44,0 61,0 69,0
155,68 155,12 154,90 154,83
156,76 156,88 155,90 155,78
J1+467
— | S—
Fw=2,99 m?’ /’r\ J L
Fnh=8,95 m?
p.p. 154,00
odlegtosc 12,5 11,0 10,0 7,0 4,0 2,0 0,0 6,7 4,0 3,0 0,00 3,0 4,0 6,5
Rzedne terenu 154,81 155,13 155,24 155,39 155,53 155,53 154,91 155,07 156,26 156,27 156,12 155,94 155,84 155,07
Rzedne niwelety

str. 12



S1+507  (51+300>

Fw=1,87 m?

Fn=3,63 m?

p.p. 153,00

odlegtos¢ 9,0 4,0 3,0 0,00 3,0 52 60
Rzedne terenu 154,12 155,39 155,44 155,32 155,19 155,16 154,64

Rzedne niwelety

S1+532  (31+525)

S
Fw=3,05 m?

Fn=0,80 m?

p.p. 152,00

odlegtose 9,0 4,0 3,0 0,00 3,0 52 60
Rzedne terenu 153,74 155,13 155,09 154,99 154,83 154,72154,36

Rzedne niwelety

S1+337  (O1+330

I ;
Fw=2,76 m?
Fn=1,13 m?
p.p. 152,00
odlegtose 9,0 4,0 3,0 0,00 3,0 52 60
Rzedne terenu 153,44 154,79 154,68 154,58 154,48 154,46153,83

Rzedne niwelety

21+382 (B1+373

]
Fw=2,60 m?

Fn=1,09 m?

p.p. 152,00

odlegtose 9,0 4,0 3,0 0,00 3,0 52 60
Rzedne terenu 153,09 154,31 154,31 154,20 154,07 153,92153,41

Rzedne niwelety

str. 13



